N 2 0l & AF S E A A
2009 = =0 AF 2B
SN SN2
My T2 CAEY M
SHel: DR (S5 & 2)
RA B SA(BH) - NRAY - B 01 e HRE2
=XZH 15,226,810 2,087,452 3,189,358
= 2,931,959
2 429,680
= 1,992,607
Al 9,872,474
=2 CAEY X4 6,225,409 5,918,711 306,698
= 48,455
= 812,080
Al 5,364,874
D 3,272,233 1,949,000 1,323,233
= 250,000
Al 3,022,233
MEDAXY 500,000 0 500,000
= 250,000
Al 250,000
401 AlEHIL 2 O] 500,000 0 500,000
= 250,000
Al 250,000
01 Al&H] 496,400 0 496,400
OME DALY 297,840,0002 297,840
= 148,920
Al 148,920
OUNTA NYZ =7 198,560, 0002 198,560
= 99,280
Al 99,280
03 A& 3,600 0 3,600
OMETBALTY 300,000, 0002 0. 72% 2,160
= 1,080
Al 1,080
OLMBR HY2 =HE
200,000, 0002 0. 72% 1,440
= 720
Al 720
IAXH o e 591,273 489,000 102,273
101 Q12| 34,223 0 34,223
B EEN R 34,223 0 34,223




SN SR D
HH: ZE CAH X4
o9 TR CRRE]
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 0 At of Hlus2
CEERESE 34,223
cQRU(ESR) 41,7803 x10E 50 20,890
cQIRel (03I EX 80, 53021 *5% *302 2,080
oMATHHEE = 32,970,000& *3.8% 1,253
201 L3 H| 31,000 12,000 19,000
01 AtS2eld] 11,000 10,000 1,000
oYL=l 9,000,000& 9,000
ogx=z 2,000, 000& 2,000
02 522944 20,000 2,000 18,000
OZ=RSXLAHA 20,000, 000& 20,000
206 TH=Hl 8,000 6,000 2,000
01 =8l 8,000 6,000 2,000
OZdU HIS+< 5,000,000& 5,000
OZ2Jdis <N+ 3,000, 000& 3,000
401 AIEHIZLROY| 515,000 455,000 60,000
01 AlI&HI 513,056 454,280 58,776
OSEATHEHE+EHES 148,920, 000& 148,920
OXtdZ& tEA HE 119, 136,000& 119,136
OTHBIFA B4 (M4 - Lo - SHH)
60,000,0002! 60,000
OMETH +2HH| 15,000, 00024 15,000
OME IR L2IZS WA 45,000,000& 45,000
oO=d F&XY 2=+ 30,000, 000& 30,000
OYMZA “FIHES uH 45,000,000& 45,000
OYMNBE =3 Of20IZ0IAE DA
20,000,000& 20,000
OZAUU SHALS M 30,000,0002 30,000
03 AIZ=0HHI 1,944 720 1,224
CELEXPERSEE
150,000, 000& *0.72% 1,080
OMMTE BTA 2
120,000, 000& *0.72% 864
405 Kt SHI 3,050 16,000 212,950
01 XA ESEH=HI 3,050 16,000 A 12,950




SA

(x|
o
=

=X
Hm: T2 CABE XA
£rol: BR2 (Er9): &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl & 04 Sl ko HRE2
CEERIEE 1,050,0002! 1,050
OXCIZI(Kt=F4]) 2 2,000,000& 2,000
BtEZSE 1,500,000 500,000 1,000,000
401 A& HIZL=2OY| 1,500,000 500,000 1,000,000
01 Al&HI 1,494,600 500,000 994,600
OHEZY LMY (7RI, 20,349m)
1,494,600,000& 1,494,600
03 AlZ=0idl 5,400 0 5,400
OHEZY LMY (7RI, 20,349m)
1,500,000, 000& *0. 36% 5,400
oS R E 100,000 100,000 0
401 AIEHIZSOYI 100,000 100,000 0
01 A&H] 99,100 99,100 0
Otz 3 Fhl 99, 100, 000& 99, 100
03 Al ThH| 900 900 0
Otz 3 Fhl 100,000, 000& *0.90% 900
Oelolz& &l 250,000 10,000 240,000
401 AIEHIZL=2OY| 250,000 10,000 240,000
01 Al&HI 248,020 10,000 238,020
OS33 0RI0IZA (2L %) Ful
148,920, 000& 148,920
OFE1 ORI0IBR (2382 ¥)FH
99, 100,0002! 99,100
03 A& =01 1,980 0 1,980
OS33 0RI0IZ (2L ¥) Ful
150,000, 000& *0.72% 1,080
OFE1 R0 B2 (231812 ¥)FH)
100,000, 0002 0. 90% 900
2538 xd 280,960 200,000 80,960
401 Al HIL=2OYI 280,960 200,000 80,960
01 Al&HI 280,960 200,000 80,960
O2EZY LMY (42X, 7,024m)
280,960,000& 280,960
WEEES T ES 50,000 0 50,000
401 AIEHIZLROY| 50,000 0 50,000
01 AlI&HI 50,000 0 50,000




SA

(x|
o
=

=Xl
M mE CAEY X4
ool ZE el L)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
OXNAZTLE TS IS4l 50,000,000 50,000
=sX32t =4 2 22| 2,868,663 3,948,301 21,079,638
= 3,800
& 544,140
Al 2,320,723
SANE=ZEAY 30,600 20,012 10,588
= 3,800
L= 1,140
Al 25,660
101 @IAH| 7,600 20,012 212,412
= 3,800
& 1,140
Al 2,660
10 JIZtH2Z2AsSE+ 7,600 20,012 A12,412
OF AR AEHE AL 7,600,0008! 7,600
= 3,800
= 1,140
Al 2,660
206 M=l 23,000 0 23,000
01 MZ 4l 23,000 0 23,000
OUSUSOED| #AIS 22 7
20,000, 000& 20,000
OURUSOHFI| M =37 MATHM
- 3,000,000& 3,000
=XN32t DAY 1,340,000 1,821,250 A481,250
L= 543,000
Al 797,000
401 Al HIZL 20| 1,340,000 1,821,250 A481,250
& 543,000
Al 797,000
01 Al&HI 1,331,324 1,815,701 ANA484 377
OMEBZH=ZEL U ASR2
397, 120,000& 397,120
= 119,136
Al 277,984
Os20ts €H =4 40,000,000 40,000




SN SXZED
HH: 22 CAEY X4
el =XZ T4 L 22 (S5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
= 40,000
ozg dH =4 25,000,0002! 25,000
= 25,000
o5t HE T4 25,000,000%! 25,000
= 25,000
O2AIE HE X4 30,000,000%! 30,000
= 30,000
OUZOIS HH x4 30,000,0002 30,000
= 30,000
OYPI=3AY 59,460,000%! 59,460
= 17,838
Al 41,622
CREETIRES 178,704,002 178,704
= 89,352
Al 89,352
O=XT2 HHEH 347,480,0002! 347,480
= 104, 244
Al 243,236
OXF2ZeE ABAEY 198,560, 0002 198,560
= 59,568
Al 138,992
03 Al&=CH] 8,676 5,549 3,127
OMBFH=FEL U ASRL
400,000,00021+0. 72% 2,830
= 864
Al 2,016
OYPI=3tAY 60,000, 00024 +0.90% 540
= 162
Al 378
CREETIRES 180,000, 00021 0. 72% 1,296
= 648
Al 648
O=XB HEHEY 350,000,00021%0. 72% 2,520
= 756
Al 1,764
OXF2LEE 2JAEY
200,000,00024%0. 72% 1,440
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2AMd: sA33
Hm: T2 CABE XA
&l =X32 =4 & 2tel (ctel: &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
== 432
Al 1,008
T+ 2 22 ae 389,013 345,840 43,173
101 el | 100,204 78,477 21,727
10 JI2ZHH22sSEs 100,204 78,477 21,727
OFEA =& =22 & H=&EY 13,011
SRR =l 41,7803 *10H 30 12,534
oM EE = 12,534,000 *3.8% 477
OALZA Zel 39,031
ool 41,7803 1560 37,602
ol EE S 37,602,000 & *3.8% 1,429
Ox=gd |RUME =4 9,759
ool 41,7803 x15F x15 9,401
oM FMAHEE R 9,401,000 *3.8% 358
oZZztel 21,684
ool 41,7803 *10H x50 20,890
oMATHNHEE S 20,890,000 *3.8% 794
OxZ=+ - ZLXHEX GlF &Y 16,719
ool 80,530& x 10 x20 16, 106
oMAMHEEZ 16,106,000 *3.8% 613
201 LBHEHH| 91,000 92,000 A 1,000
01 At=2teldl 41,000 47,000 26,000
O et=ZH| 20,000, 000& 20,000
OF=i=d:] 5,000, 000& 5,000
(©FIPNI= 16,000,000& 16,000
02 ==29gHl 50,000 45,000 5,000
O232=Z A 30,000, 000& 30,000
O Xt & Bl 15,000, 000& 15,000
OAI & EHIS XL 5,000,000& 5,000
202 O4dl 18,109 17,363 746
01 =Wodl 18,109 17,363 746
OZ2A=Z 0| 18,109,000& 18,109




2A sN33
3 EZE TAEE =4
ool =XT2 24 Y e (649l &2
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
203 YRFLAY| 3,000 3,000 0
03 AIMFAAHR =LY 3,000 3,000 0
O=X & ST HRFA 2,000,000& 2,000
Ott=0e =8 1,000, 000& 1,000
206 M=l 30,000 65,000 A 35,000
01 M=z 4l 30,000 65,000 /35,000
OxY-== MM X2
15,000,000& 15,000
Os2FU "5EXN SMHE =4 MY
15,000,000 15,000
401 A& BI04 145,000 90,000 55,000
01 Al&HI 144,100 89,460 54,640
OFEAMU =24 L HF 15,000,000& 15,000
OAZE X4 99, 100, 000& 99, 100
(OF RS 30,000, 000& 30,000
03 A0l 900 540 360
OAZE 24 100,000, 000& *0.90% 900
405 KHeHHE SHI 1,700 0 1,700
01 XA ESESH=HI 1,700 0 1,700
oO&&EI ¢ 1,100,000& 1,100
osga4=ERI| 72 600, 000& 600
N2 & JIZ2SE T4 - 2tel 759,050 186,000 573,050
201 Lt 24,210 8,000 16,210
01 AtS2eld] 16,210 2,000 14,210
oYdxtz 16,210,000 16,210
02 23244l 8,000 6,000 2,000
O332=2Z A 5,000,000& 5,000
OAl &&= XYl 3,000,000& 3,000
206 M=l 20,000 15,000 5,000
01 XZ 4l 20,000 15,000 5,000
OItZ2# - X& =+ EH & M+
10,000,000& 10,000
OJtZ2 & =F=2el A7 10,000




FM: sSXNSEL
M ZE TANEE =4
o9l =XTA X8 L e (£ @8
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 e HRE2
oXF=S 2L 10,000, 000& 10,000
301 Lptsazg 4,840 3,000 1,840
10 BAIAHIENS 840 0 840
O=8Jt- dL=AX MOILE & nsEFA
A AHIE24 840,000& 840
12 JIEt2 43 4,000 3,000 1,000
OJIZE OlF A Doi2a=
4,000,000 4,000
401 AIEHIZ=20Y] 710,000 160,000 550,000
01 Al&HI 706,400 160,000 546,400
O&S0l =8 (AFIC~sES A2
496,400,000 496,400
o=z dF 60,000,000 60,000
OJt=2= AN 50,000, 000& 50,000
OJt=2= K= A & 24 50,000,000& 50,000
OANJHEY T2 & Itdet ZH|
50,000,000 50,000
03 A& =0 3,600 0 3,600
ORIl =8 (A IC~=E3A2H)
500,000, 000& *0.72% 3,600
=XN32t dHE 350,000 0 350,000
401 AIEHIZ=20Y] 350,000 0 350,000
01 Al&HI 350,000 0 350,000
o- 2z Sl =4 20,000,000 20,000
Ox&0ts €8 =4 30,000,000& 30,000
OdEOts &€ =4 30,000, 000& 30,000
O&sEZ=0 &H &X 50,000,000& 50,000
OsAd =2 FHHH| 20,000, 000& 20,000
O E0t2 = &4l 100,000,000 100,000
ogdlts € =4 100,000, 000& 100,000
datEs A5 K2 84,513 21,410 63,103
= 44,655
= 17,940
Al 21,918
MEE ZSHUAXRA 17,575 6,610 10,965




SA

=
=
X XH: IT
(= I
(o]

g ZAE3E =4
& gotE A5 1A (Ste: &
SAN-ZH-SA(FA) - NFAY - BES O AF K gl/liafﬁ Hlw &2
MEE ISMULATH = 13,300
& 4,275
402 QIZtRHE01H 17,575 6,610 10,965
= 13,300
< 4,275
01 RIZtAEE X 17,575 6,610 10,965
OB E ML X 17,575,000& 17,575
= 13,300
= 4,275
IF=ZEELHES 15,633 0 15,633
= 7,600
< 2,410
Al 5,623
402 QI2tXHE0lA 15,633 0 15,633
= 7,600
= 2,410
Al 5,623
01 RIZtXEE X 15,633 0 15,633
oz=zd8 2L E2(9) 9,450,000& 9,450
= 4,050
[ 1,620
Al 3,780
om3 2 ES(1H) 3,033,000& 3,033
= 1,300
[ 520
Al 1,213
OdM2M=z Al K& 3,150,000& 3,150
= 2,250
[ 270
Al 630
a=RsSAE 25,600 0 25,600
= 12,800
< 6,400
Al 6,400
402 QIZ2tHE0lA 25,600 0 25,600




A sAS31
Hm: mE CASY A4
ool NS AS X (sl &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
402 QIZtXIE0| A = 12,800
= 6,400
Al 6,400
01 QIZX=2BEXR 25,600 0 25,600
OYUrZ IIZEXSE 25,600,000 25,600
= 12,800
= 6,400
Al 6,400
AUMBASKA 2,400 0 2,400
= 1,200
& 600
Al 600
402 QIZ2EXE0| M 2,400 0 2,400
= 1,200
& 600
Al 600
01 QI2X=2EXR 2,400 0 2,400
OED MHHAIE K& 2,400,000& 2,400
= 1,200
= 600
Al 600
A - 2tabe MATRA 4,275 0 4,275
= 3,325
= 475
Al 475
402 QIZEXE0| A 4,275 0 4,275
= 3,325
& 475
Al 475
01 QIZX=2EXR 4,275 0 4,275
OB AL EAIN2 4,275,0008! 4,275
= 3,325
o= 475
Al 475
MEXCIHEAAE RS 18,000 0 18,000




2AMd: sA33
M T2 TAEE =4
ool NS AS X (sl &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ME X BEAIAE RS = 5,400
& 3,780
Al 8,820
405 XHAHF SHI 18,000 0 18,000
= 5,400
& 3,780
Al 8,820
01 ML =ESHSHI 18,000 0 18,000
QUSRI FEAIAE 2= 18,000,000& 18,000
= 5,400
= 3,780
Al 8,820
SHEZE HLHEHI 1,030 0 1,030
2 1,030
405 THEH S 1,030 0 1,030
= 1,030
01 T =SHSHI 1,030 0 1,030
OYLSHE HLEH 2L 1,030,000& 1,030
= 1,030
METE B B4 8,734,304 5,883,626 2,850,678
= 2,883,504
s 429,680
& 1,180,617
Al 4,240,503
SEEs 2 2,165,287 1,753,979 411,308
= 1,398,948
& 223,899
Al 542,440
MSHHSEH X 2,165,287 1,605,979 559,308
= 1,398,948
& 223,899
Al 542,440
101 el | 239,982 210,986 28,996
= 124,683
= 34,589
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SN SN2
HE: NYUNE 25 SA
Sl NRHHE DR (9l &8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
101 Q12| Al 80,710
10 JIAMZ2HSES 239,982 210,986 28,996
O2LRHESY HEYRS 29
212,524,0002 212,524
2 106,262
= 31,878
Al 74,384
OALIRTHAEY ZZ2A S5
23,066, 0002! 23,066
= 16, 146
= 2,076
Al 4,844
O=ZLIY KA 1,468,0002 1,468
= 764
= 211
Al 493
OJIEFHE KIAR 2,924,0002! 2,924
2 1,511
= 424
Al 989
201 Lur2 | 32,700 27,560 5,140
= 16,350
= 4,905
Al 11,445
01 ARl 10,700 27,560 216,860
ONEYRE SHH Xt 2,000,000 2,000
2 1,000
= 300
Al 700
OUELME X 212 8,700,000 8,700
2 4,350
= 1,305
Al 3,045
02 ZZ2YH 22,000 0 22,000
OLHZH 2 7P 8,000,00024 8,000
2 4,000
= 1,200




SN =XBEDY
mu: MRNE Es SA
Ciol MEEHE B (crel @)
DA EHB S (B0) - MBAY - BAS 0 4 04 S e HImE 2
0l &t
Al 2,800
O &bEl S =4I 14,000, 000& 14,000
= 7,000
= 2,100
Al 4,900
206 Ml 51,590 20,000 31,590
2 20,912
& 6,202
Al 24,476
01 M=l 51,590 20,000 31,590
CHEZME 22 LN M2
35,000,000& 35,000
= 17,500
& 5,250
Al 12,250
O =L RI&ZH 2,204,000 2,204
= 1,146
= 317
Al 741
OJ|EtoH =S RI&ZR 4,386,000& 4,386
= 2,266
= 635
Al 1,485
OXYYNC NMAU(ZH, EIEZE)
10,000,000& 10,000
401 Al&BIZL20HYI 1,626,802 1,318,622 308,180
= 1,051,584
= 172,565
Al 402,653
01 Al&HI 1,617,166 1,311,488 305,678
OAURHE=E L= MA
358,171,000 358,171
= 256,834
& 30,401
Al 70,936
CAURMHESY Idis 2FiDI
63,219,000 63,219
= 44,253




S =
mu: MRNE Es SA
Crol: MEBHE WA oL
S E O (EH) - MBAIY - B Of o S Hl R =2
Ol &
== 5,690
Al 13,276
OXUSMHEESE LIRFA 116,650, 000& 116,650
= 108,085
= 2,571
Al 5,994
OXUSHASHEHM &AIZAHHI
53,963, 000& 53,963
= 37,774
< 4,857
Al 11,332
oA AN LY LIR=A 694,566,000 694,566
= 433,056
o= 78,453
Al 183,057
O&=AEAXN LY LHs HXH
246,431,000& 246,431
= 128,215
& 36,965
Al 86,251
OFAEISIIXI0IEY M2t
84,166,000 84,166
= 42,082
& 12,624
Al 29,460
03 AIZ=C0HHI 9,636 7,134 2,502
OAURMHEESSE ToH= M A
360,769,000& *0.72% 2,598
= 1,863
= 221
Al 514
OXUSMHEESE LISFA
117,496, 000& *0.72% 846
= 784
= 17
Al 45
oA AN LY LIR=A
698,970, 000& *0.63% 4,404
= 2,744
& 498




SN SRR D
HH: AT 25 B4
CHol: MEEHE YR (S92l
_ _ _ Muo
A HH . CR(S) - NRAY - BHLS 0 Ak o4 il b o HRE2
Al 1,162
OSAZAN LY THS i
248,219,000& *0.72% 1,788
2 894
= 268
Al 626
402 QIEE01M 205,213 25,060 180, 153
= 180,919
= 4,288
Al 20,006
02 PIZFCHEE A b 205,213 25,060 180, 153
OXURMHESE S 123,982,000 123,982
= 116,227
= 2,326
Al 5,429
OXUSRMHESE XA 18,949,000 18,949
= 15,472
= 1,043
Al 2,434
OLAIAX LY FTYH| 52,282,002 52,282
2 49,220
= 919
Al 2,143
OULSHEL TN AR
10,000,0002! 10,000
405 XHeHESH| 9,000 3,751 5,249
= 4,500
< 1,350
Al 3,150
01 RMASEHSH] 9,000 3,751 5,249
CHEZHME JIHE 4,500,000& 4,500
= 2,250
= 675
Al 1,575
OUHZEHNE SHESI| 7Y 4,500,000& 4,500
2 2,250
= 675




SN =SR2
Hy: MATE 25 B4
ool MHHHS YR CREE))
SH-EH . C(BH) - NRAY - BES Off &F oA gg;ﬁ; bRz
Al 1,575
SYTY TH Y oY = 4,239,280 3,037,806 1,201,474
2 1,352,549
2 429,680
= 396,904
Al 2,060, 147
% JRIIAY 80,000 956, 199 ~876,199
401 AlEHIL 2| 80,000 951,019 A871,019
01 AIZH] 80,000 944,840 864,840
OFQE2H 2F MY AU BF
80,000,000%! 80,000
AT AL XIS 752,100 649,804 102,206
2 429,680
< 53,710
Al 268,710
401 AlEHIL O] 752,100 649,804 102,206
2 429,680
= 53,710
Al 268,710
01 AlZH] 747,783 646,052 101,731
O Z A (1.7kn) 317,298,000 317,298
2 253,838
= 31,730
Al 31,730
© Y= PEINZH(3.0kn) 84,660, 00024 184,660
2 147,728
= 18,466
Al 18,466
O E &2 (7kn) 31,500,002 31,500
25,200
= 3,150
Al 3.150
OIMAT EHIIIAL 50,000,000% 50,000
OIEYT ASEE 90,000,000%! 90,000
ONUEXT YT AYZ N 74,325,002 74,325
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SN SRR D
HE: AT 25 B4
ool MR EH L WUy =7 (S5l &2
_ _ _ Muo
SA - M. SR(F) - MPAY - BAS Off &F oA il b o bRz
03 Al&=CH] 4,317 3,842 475
OYT A (1.7kn) 319,600,000 %0.72% 2,302
1,842
= 230
Al 230
O T PN (3.0kn) 186,000, 00024 *0. 72% 1,340
2 1,072
= 134
Al 134
OMENT AT FYZ Ha
75,000,002 %0.90% 675
ZYAMYT 219,688 289,508 269,820
2 120,739
= 29,671
Al 69,278
401 AEHIL2 O 181,631 242,487 60,856
2 91,139
= 27,134
Al 63,358
01 Al&H] 180, 424 241,744 £61,320
CEVEES 64,115,002 64,115
2 30,973
= 9,937
Al 23,205
OMEIE 2 6,327,000% 6,327
2 4,180
= 647
Al 1,500
CEF IR 14,205, 0002 14,205
2 9,705
= 1,350
Al 3,150
02UR BUxY 68,609,002 68,609
2 33,802
= 10,405
Al 24,312




2A sN33
Hu: NENE 25 EA
ol MBI ZA L oY =7 (et9l: &2
DA HB L CP(E) - HRAY - BAS 01l &+ o4 Soe s
O35 gotxd 10,803,000& 10,803
= 3,240
Al 7,563
Ox=g & 2el 11,953,000& 11,953
= 8,367
& 1,076
Al 2,510
otlg=J| 4,412,000& 4,412
= 3,432
& 294
Al 686
03 Al&Z=0Hdl 1,207 743 464
OZN==xd 64,698, 000& *0.90% 583
= 282
< 90
Al 211
O2U5 B9dx™ 69,233,000& *0.90% 624
= 308
< 95
Al 221
402 QIZEXE0|M 38,057 47,021 A 8,964
= 29,600
& 2,537
Al 5,920
01 BIZIXI=22 X 38,057 47,021 A 8,964
ORFEAXN =8 38,057,000& 38,057
= 29,600
= 2,537
Al 5,920
25 ZHIMY 98,398 44,000 54,398
= 6,058
Al 92,340
401 Al &HIZ =204 98,398 44,000 54,398
L= 6,058
Al 92,340
01 Al&HI 97,875 44,000 53,875




SN SRR D
Do NENE 25 SA
ool MR EH L WUy =7 Rk
SN S(B) - NRAY - B2 Aro e =2
OEs= FHAY 47,875,000 47,875
< 5,993
Al 41,882
OES= 2its= Y FHEHY
50,000, 000& 50,000
03 AIZ=C0HHI 523 0 523
OEs= FHAY 48,398,000 *1.08% 523
= 65
Al 458
AEIMHIASE 308,701 28,578 280,123
= 185,221
= 35,408
Al 88,072
101 ol | 296,754 25,287 271,467
= 177,541
= 34,128
Al 85,085
10 JIZHNZ22NSEx 296,754 25,287 271,467
O=2A X A2 (2Y) 24,002,000 24,002
= 13,889
= 3,034
Al 7,079
ONEES 2SAS 146,836, 000& 146,836
= 88,102
< 17,620
Al 41,114
OALROISEHE =4 2F(9Y)
112,288,000& 112,288
= 67,373
< 13,474
Al 31,441
O A=A 2eld(1H 13,628,000& 13,628
= 8,177
Al 5,451
201 Lt 8,024 3,091 4,933
= 5,166
= 858




SN SN2
HE: NYUNE 25 SA
ol ARXE EH Y THoHoY =7 (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o bRz
201 L2yl Al 2,000
01 AtR2elt] 8,024 3,001 4,933
CEETEINL 3,514,00094 3,514
2 2,460
= 316
Al 738
ONEES LEAIY 2,880,00024 2,880
2 1,728
= 346
Al 806
02LR0ISHE 22 2Y 1,630,0002! 1,630
2 978
= 196
Al 456
202 Ofl 1,923 0 1,923
= 1,154
= 230
Al 539
01 =UHolb 1,923 0 1,923
ONEES LAY 1,923,0002! 1,923
= 1,154
< 230
Al 539
01 YuBAZ 2,000 200 1,800
= 1,360
= 192
Al 448
10 BAMHEAZ 2,000 200 1,800
CEEEINE 400,0002! 400
2 400
OUEES LAY 1,600,0002! 1,600
2 960
= 192
Al 448
I PIIAL X2 1,827,705 478,260 1,349,445
= 1,028,251
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2A sN33
Hu: NENE 25 EA
ol MBI ZA L oY =7 (SHol:®el)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= RIIALE X & = 219,221
Al 580,233
101 Q12| 196,818 413,293 A216,475
= 119,963
= 23,056
Al 53,799
10 JIZtH2=AsSE=+ 196,818 413,293 A 216,475
O334tE =ItRJ| 196,818,000& 196,818
= 119,963
= 23,056
Al 53,799
201 2BH2ZH] 14,180 54,587 240,407
= 7,990
= 1,857
Al 4,333
01 At 2eld] 5,000 54,587 A49,587
O334t8 =JtRJ| 5,000, 000& 5,000
= 3,000
& 600
Al 1,400
02 =294l 9,180 0 9,180
O33¢te =It3 0| 4,000,000& 4,000
= 2,400
< 480
Al 1,120
O=Jt3HI| &=SEEFHEl =Abl
5,180,000& 5,180
= 2,590
= 77
Al 1,813
401 A& HIZ 20| 1,615,207 0 1,615,207
= 900,298
= 193,558
Al 521,351
01 Al&HI 1,587,087 0 1,587,087
O= JtRIIMY 1,382,745,000& 1,382,745
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2A sN33
Hu: NENE 25 EA
ol MBI ZA L oY =7 (SHol:®el)
DA HB L CP(E) - HRAY - BAS Ak Soe s
= 771,088
& 162,971
Al 448,686
OXEX AtZ2te| 204,342 ,000& 204,342
= 113,523
= 27,246
Al 63,573
02 Zeltl 21,564 21,564
O= IJHFHIIAE 1,409, 383,000& *1.53% 21,564
= 12,032
= 2,545
Al 6,987
03 AlZ=0Hd] 6,556 6,556
O= JtRIIMY 1,409, 383, 000& *0.36% 5,074
= 2,831
& 599
Al 1,644
OXEX AtZ=2tel 205,824,000& *0.72% 1,482
= 824
& 197
Al 461
405 It SHI 1,500 1,500
& 750
Al 750
01 L =SHEHI 1,500 1,500
Ozd=2 MAHEH 7 (50) 1,500, 000& 1,500
< 750
Al 750
SH&2 Td 22| 101,126 70,566
= 18,338
& 52,836
Al 29,952
401 Al &HIZ =204 101,126 70,566
= 18,338
= 52,836
Al 29,952
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SN SRR D
HE: AT 25 B4
ol ARXE EH Y THoHoY =7 (5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
01 AlZH] 100,575 30,560 70,015
OMBNEIA SH2 60,575,002 60,575
2 18,173
= 2,720
Al 29,682
CRIEER-TZESS 40,000,0002 40,000
= 40,000
03 A& CH] 551 0 551
OMBNEIA SHZ Y|
61,126,000 %0.90% 551
2 165
= 116
Al 270
NER-T 68,337 57,874 10,463
101 oIty 4,337 23,874 ~19,537
10 JIAHIEZNSE 4,337 23,874 219,537
OLRITHBH (MAEN) 2227 4,337
ooy 41,7802 2024 52 4,178
cuTHEE R 4,178,00021+3. 8% 159
201 L2yl 4,000 4,000 0
01 A= el 4,000 4,000 0
CHEES=11 2,000,0002! 2,000
oYxz 2,000,000% 2,000
401 AlSHIL 2O 60,000 30,000 30,000
01 AIZH] 60,000 30,000 30,000
CEEPYREN Stz 2 e
22 x4 30,000, 0002 30,000
OFQSMZAL 30,000,0002 30,000
oAb 133,225 105,330 27,895
308 XHXIEHH SOIH 83,225 75,330 7,895
05 RXIEHA=LS 83,225 75,330 7,895
OAAY RS (AILE - OFHALY - HE
4 5) 83,225,002 83,225
401 AlSHIL SO 50,000 30,000 20,000
01 AI&H] 50,000 30,000 20,000
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SN SN2
MH: MEUTE 25 SA
ool METE EH Y oY =7 (5l &2
_ _ _ Muo
SN HY . C(EH) - MRAY - BYS 0ff &+ o4 il b o B2
OAZAIE A2 22l(L - O - 2o =7
AHEEXT) 50,000,000 50,000
HoHSIE 2 &N 50,000 20,000 30,000
401 ASHILLHH 50,000 20,000 30,000
01 Al 50,000 20,000 30,000
O ST 50,000, 0002 50,000
CHA HHAL 100,000 52,3883 47,612
401 AlEHIL 20| 100,000 50,000 50,000
01 Al&H] 98,920 49,460 49,460
OLNH4 ADAs U FHFY
49,460, 0002 49,460
020 F% 2Anss L FHHY|
49,460, 0002 49,460
03 Al&=CHY] 1,080 540 540
OLNH4 ADas U FHIY
50,000, 0002 *1.08% 540
020 F% QAnss L FHHY|
50,000, 0002 *1..08% 540
24 b 500,000 100,000 400,000
401 AlEHIL 20| 500,000 100,000 400,000
01 A&t 496,400 99, 100 397,300
OAMTAT2 HALT L F|
496,400,0002 496,400
03 A&l 3,600 900 2,700
OAMTAT2 HALT L H|
500,000, 0002 *0.72% 3,600
NEEISE! 2,329,737 1,091,841 1,237,896
= 132,007
= 559,814
Al 1,637,916
NEEISiE 249,870 232,899 16,971
= 99,948
= 44,978
Al 104,944
101 Q12| 215,070 197,900 17,170
= 86,028
= 38,713
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SN =XZED
Hu: MENE 25 EA
Chel: A TIOHY (sl &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
101 Q12| Al 90,329
10 JIZtHZ2Z2NSEx 215,070 197,900 17,170
OMEMZUHY XS 214,320,000 214,320
2 85,728
< 38,578
Al 90,014
OXE2EEZoY At Z&EE 750,000 750
2 300
< 135
Al 315
201 LEH23H] 25,200 27,756 N2,556
= 10,080
= 4,537
Al 10,583
01 AtR2&cldl 25,200 27,756 22,556
Out=2 &3t =4I 2,500, 000& 2,500
= 1,000
< 450
Al 1,050
OL=2 LR SAHE 2E= 6,600,000& 6,600
= 2,640
< 1,188
Al 2,772
O©JH I & Bt &I 15,425,000& 15,425
2 6.170
< 2,777
Al 6,478
OXlstxtE st 675,000& 675
2 270
= 122
Al 283
202 Od4Hl 3,000 4,043 21,043
=2 1,200
= 540
Al 1,260
01 =LAl 3,000 4,043 A 1,043
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SN SN2
HE: NYUNE 25 SA
CHl: AMEEEXICHE (£ @8
SA-BH.C(BH) - HRAY - B Ofl &t o gg;ﬁ; Rz
PREREEET 3,000,002 3,000
2 1,200
= 540
Al 1,260
405 XtarzE S| 6,600 3,200 3,400
= 2,640
= 1,188
Al 2,772
01 KMUSEFHSH 6,600 3,200 3,400
OEHE 2RI 7Y 1,600,0002! 1,600
2 640
= 288
Al 672
OMEAEED T2 2Y(10H)
5,000,0002! 5,000
2 2,000
= 900
Al 2,100
AEEX ZHIX 384,247 274,400 109,847
= 32,059
= 44,836
Al 307,352
101 Q12| 4,900 4,900 0
= 1,960
= 832
Al 2,058
B EEPEERS 4,900 4,900 0
OUSSE M 4,900,0002! 4,900
2 1,960
= 882
Al 2,058
201 L2yl 5,000 0 5,000
= 2,000
= 900
Al 2,100
02 2zl 5,000 0 5,000
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=XS3
pRTE 25 EA
a2 ONJUIES = k|
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
O=elotiiet SAE= 5,000,000& 5,000
= 2,000
= 900
Al 2,100
401 Al &HIZ =204 7,247 15,000 ANT,753
= 2,899
= 1,304
Al 3,044
01 AlI&HI 7,247 15,000 AT,753
O=EAZSEY 0|AB2 X4
4,247 000! 4,247
= 1,699
= 764
Al 1,784
ORd= S&EH &X 3,000
o Xt&E= 3,000,000& 3,000
= 1,200
< 540
Al 1,260
403 TXEMSAH201H 304,100 245,000 59,100
L= 30,410
Al 273,690
02 SJI2SOIHSttHEA 304,100 245,000 59,100
©)='WIk=IbN; 304, 100,000& 304,100
= 30,410
Al 273,690
405 XtobESHI 63,000 9,500 53,500
= 25,200
& 11,340
Al 26,460
01 XA ESESH=HI 63,000 9,500 53,500
Oot=ds EAY 50,000,000& 50,000
= 20,000
= 9,000
Al 21,000
OIS MUY~
6,000,000& 6,000
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SN SRR D
HE: AT 25 B4
CHol: A CHEY k)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
= 2,400
= 1,080
Al 2,520
OIIHE ASESAIAE (LS, 20H)
7,000,0002 7,000
2 2,800
= 1,260
Al 2,940
AHEDIBAIA X & 940,000 0 940,000
= 470,000
Al 470,000
401 Al&HI L2 0| 940,000 0 940,000
= 470,000
Al 470,000
01 Al&H] 934,078 0 934,078
oMERE WAR 934,078, 00024 934,078
= 467,039
Al 467,039
03 Al&SCH| 5,922 0 5,922
OMERE WAR 940,000, 0002 %0.63% 5,922
= 2,961
Al 2,961
e EE 755,620 584,542 71,078
101 oIty 705, 120 541,042 164,078
10 JAHZEZNSES 705, 120 541,042 164,078
CINEEINN 705, 120
ool 32,0002 %1002 ¥1952 624,000
=013 S 4UREE
624,000, 0002 * 13% 81,120
201 Lpr2y| 27,000 30,000 3,000
01 A= 2ell 10,000 13,000 3,000
CHEES=1i] 5,000,000% 5,000
ozl 5,000,000%! 5,000
02 ZZ=2YY 7,000 17,000 0
OAN&ZHI Rl 2,000,000%! 2,000
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SM: =R
Hal: MUY 25 B4
CHl: AMZEIRICHE 2| # 2
_ _ _ Muo
SNBSS - HRAY - BHES Aboy i 2
e 15,000,000%! 15,000
301 YsrEA 5,500 5,500 0
12 JIEEA2 5,500 5,500 0
OUEYX DX B4 50000024 500
O SR Fa B 22|
5,000, 0002 5,000
302 OIEUTHOHZ A3 4,000 3,000 1,000
02 oI MHEAD 4,000 3,000 1,000
oty U 3 Sl 4,000,0002 4,000
401 ASHILLHY 14,000 0 14,000
01 A& 14,000 0 14,000
OUELAZEA MR 14,000,002 14,000
HHLSYAH (SN2 267,097 235,115 31,982
2| 198,697 182,115 16,582
2oyl 198,697 182,115 16,562
101 QIAHl 194,497 177,915 16,582
09 SIHA2ZXE2S 194,497 158,914 35,583
OZR L J24 22I(9Y) 194,497
Sl 41,7802 %92 #2552 95,886
SN 95,886,000 #4/ 12 31,962
oo 95,886,000 * 10% 9,589
cRZFYULY 41,7808 %93 +522 19,554
oo Rtag 41,7802 %92 202 7,521
oNARR4Y
7,840 xQZ *20 Al 24x 128 16,935
ozl 6,480, 0002 6,480
oXFA LY 30,0008 %92 *122 3,240
ol =) 290,00021 *9% *13] 2,610
oZY U J24 ol MK A
80,0002 9% *13] 720
203 AREXY| 4,200 4,200 0
04 BASYAL=Y| 4,200 4,200 0
ORNESY AREAY| 350,00024 +12% 4,200
=2l 68,400 53,000 15,400
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AL
HH: HH2APY(SXIAD)
Sl Jl2 | (5l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
2 68,400 53,000 15,400
201 Lpr2y| 8,000 5,000 3,000
01 A=l 8,000 5,000 3,000
CHEES=11] 5,000,000% 5,000
oz 3,000,000%! 3,000
202 o1t 50,400 48,000 2,400
01 =UHoTbl 50,400 48,000 2,400
ORUHEZOIHI 50,400,0002 50,400
405 TrarE S 10,000 0 10,000
01 RMUSEFSY] 10,000 0 10,000
O= Al 7 10,000, 000! 10,000
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